o
[N

<0 > (rad)
o
o [
[ [¢)]

o
T

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

—=— DQM_mKkFit_baseline
—e— DQM_mkFit
—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3

baseline6iter

100r

o ™
o O
[

< 00, > (M)

N
o
I

20

...................................

..................................

..................................

1

<0 / > (Y
PP, > (Y0)
O = N W N O

e
—2E-1f

. +
""""" TR
..+"'-c-"1 :r'“:+:+ X P
---------- PR 4 SRR
[ R 1 O D,
........... e Y

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

RatioI

0.95

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


